RO FEOLT « BEX 1
3% # Hw-KA
2 +(a+bx+ab a® +2ab +b? a? -b?
= (x+a)(x+b) = (a+b)* =(a+b)a-b)
@ £ +8x+15 @ £ +2x+1 OFS
=(x+5)@+3) = (x+1)? =(x+)@—-1)
@ 2 -3x-10 @ £ -6x+9 @ 2?4
=(@+2)(x—5) =@-3)? = (x+4)(x—4)
® £ -5z+6 ® 2 +8x+16 @ -9
=@-2)(x-3) =(x+4)* =@+3)(x—-3)
@ o +2x-48 @ 22 -10x+25 @ °-16
= (x+8)(x—6) = (x-5)? = (x+4)(x—4)
® 2% -8x+12 ® 22 +14x+49 ® ££-36
=@x-6)x—2) =(@+7)? = (x+6)(x—6)
® £L+x-12 ® £ -16x+64 ® £ -49
= @+4)(x-3) = @-8)° =@+7)x=7)
@ % -2x-63 @ 22 +18x+81 @ 2 -64
=@+7)(x-9) =@+9)* =(@x+8)x-8)
< £ A B>

RO FTEOLI « BERX 2
3%  # 2 ®w-KA
2 +(a+bx+ab a® +2ab +b° a® -b?
= (@+a)x+Db) = (a+b)? =(a+b)a-b)
® 2 +7x+10 ® 22 +2x+1 ® -4
=(x+5)x+2) =(x+1)? =(X+2)x-2)
@ % +4x-21 @ 2 -62+9 @ -9
=X+ 7)(@x-3) =(@x-3)? =(X+3)x-3)
@ «*-3x-18 @ P +8x+16 @ £-25
=(x+3)(x-6) = (x+4)* =(x+5)x—-95)
@ «° —4x+3 @ «°-12x+36 @ «°-49
=@-3)x-1) =@-6)° =@+7)(x-7)
® 22 +x-56 ® 2 +14x+49 ® ¥ -64
=(X+8)x-7) =(x+7)? =(x+8)x-8)
® «°-2x-24 ® % - 16x+64 ® «°-8I
= (x+4)(x-6) =(x-8)? =@x+9)(x-9)
@ «°-9x+20 @ o« +18x+8I @ «2-100
=(x-5)x—4) = (x+9)? = (x+10)(x—10)
< £ A B>




RO FTEOLIN+ EX 3
3% # Hw-KA
2 +(a+bx+ab a® +2ab +b? a? -b?
= (x+a)(x+b) = (a+b)* =(a+b)a-b)
D & +5x+6 D % +4x+4 D -1
=(X+2)@+3) = (x+2)? =(x+)@—-1)
@ «*-3x-28 @ 2 -6x+9 @ -9
=@+4)(@x—-7) =(x-3)? =@X+3)@—-3)
® &-7x+12 ® £ +8x+16 ® #Z-16
=@x-4x-3) =(x+4)* =@+ x-4)
@ 2 +2x-35 @ £ -10x+25 @ £-25
= @+ 7)(x—5) = (x-5) = (@+5)(x—5)
® & -9x+20 ® & +12x+36 ® 49
= @-4)(x-95) = @+6)° =@+7)x=7)
® 2% +x-30 ® x% —14x+49 ® x*-64
=(x+6)x—5) =(x-7)? =@X+8)x—-8)
@ 2 -2x-15 @ «° +16x+64 @ «*-81
=(x+3)x-5) =@+8)* =(@x+9)x-9)
< £ A B>

REDHE TEOLIN - EX 4
3%  # 2 ®w-KA
2 +(a+bx+ab a® +2ab +b° a® -b?
= (@+a)x+Db) = (a+b)? =(a+b)a-b)
D Z+7x+12 D 2 +2x+1 D -4
=(x+3)x+4) =(x+1)? =(X+2)x-2)
@ »#+2x-15 @ 2% —4x+4 @ *#-16
=(X+5)x-3) =@-2)* = (x+4)(x—4)
@ o2 -2x-24 @ 2 +6x+9 @ £-25
= (x+4)(x-6) = (x+3)? =(x+5)x—-95)
@ «°-8x+15 @ o« —10x+25 @ »°-36
=(x-5)x-3) =(x-5)° = (x+6)(x—6)
® 2 +x-42 ® 2 +14x+49 ® £ -49
=@+ 7)(x—6) =@+7) =@+ 7)(x=7)
® -3¢ 18 ® - 16x+64 ® «*-81
=(x+3)x-6) =@x-8)* =@X+9)x-9)
@ «-6x+8 @ o« +18x+8I @ «2-100
=(@x-4)(x-2) =(x+9)? = (x+10)(x—10)
< £ A B>




